——— =4

L Closs . 4% NEPS 5@%;;, Malhg
| Oyl = TIT, D Masks:= 2,0,
@4 -D.ivide oand,  check [OUs  anses

L S 6 =)
BA2:- One ben costs  Rs 80 How rmany
lsuch  pens Ll cost RS Q602 =
03— Lind The common  amudiples o} |
L Dend 6 on The qwmbesr Lize- )
QL ,ng 1& M,% ond.  common

[ 84 |
M wwé 5. &3),[

s tobs. plags  Jrom 30 7b !
L 6230 f)m yl—r‘n‘w ﬁ/&‘)nﬁ ?@.
,&_g.,_{wconm,ﬁwa@% Nef,/% omQ

i 2 R —

Lhd e sy e
OHI.— Do  ab oluecléo@

LCc 95 ol ng _‘,,_ﬁ_.L.a:_m_»_ﬁo&ﬂ.,_?‘;;m ) -
| ol.;, l1:20 ajt%?ff&ﬂ#ﬁ( Q- 971, (),?,7597?.)»_,_@_.,w Q)




